
22

7 15 3 212 19

15

11 8

10
9

18

113
12

16

15

5

23

17

12

17

7

3

4

6

14

16

20

21

21

ITEM NO. PART NUMBER QTY.

1 97074-01-SELF LEVELLER ASSM 1

2 97074-16-Top Guide Profile 1

3 97074-10-Aluminium Tee Profile 6

4 2849-3 rubber buffer 2

5 97074-31-lock pin angle 1

6 97074-32-lock pin plate 1

7 4231 C SECTION 50 X 6 UHMWPE 6

8 97074-40-split arm assmLH 1

9 97074-41-split arm assmRH 1

10 2247-BOLT M20 X 120 ZP HT   BN 2

11 1138-NYLOC M20 NUT ZP 6

12 97074-22-SELF LEVELLER LOCK PIN 
ASSM 2

13 97074-42-strut 1

14 4075-BOLT M10 X 30 ZP 8.8 6

15 1127-Washer M10x3 ZP 41

16 1115-NUT M10 NYLOC ZP 23

17 1096-BOLT M10X35 ZP HT  BN 16

18 1850-BOLT M20X40 ZP 4

19 1090-BOLT M8X25  ZP HT 4

20 1114-NUT M8 NYLOC ZP 4

21 2369-1-SCREW M6 X 20 CSK SKT 12

22 1154-NUT SS M6 NYLOC 8

23 4190 Screw CSK SKT M10x40 1

CONFIDENTIAL  © COPYRIGHT: Copyright in this drawing resides in BA Pumps & Sprayers.
Unauthorised use may result in legal action. The subject of this drawing may be protected 
by pending patent and design applications or granted patent and design registrations. 
Unauthorised construction of the product may infringe copyright.

Drawing Standard: AS1100

SURFACE FINISH

Natural

2/05/2016G.M.

A A4
SHEET 1 OF 2

DWG NO.

Description:
SCALE:   1:10

DRAWN

TOLERANCE: LINEAR:  +/- 0.2  ANGULAR:  +/- 0.25

REV:

G.M.

PROJECT:

Qty: 1 SolidWorks

X2 Boom  12/15m

MATERIAL:61.38 Multiple parts Nut & Bolt AsmWEIGHT(kg)

97074-00-Hydraulic Self-Exploded

Hydraulic Self-Leveller Full Assm



97074-35
Gusset folding

97074-36
Gusset folding

The 18M boom assembly requires these two extra bolt on components

CONFIDENTIAL  © COPYRIGHT: Copyright in this drawing resides in BERTOLINI AUSTRALASIA
Unauthorised use may result in legal action. The subject of this drawing may be protected 
by pending patent and design applications or granted patent and design registrations. 
Unauthorised construction of the product may infringe copyright.

BERTOLINI
AUSTRALASIA

Drawing Standard: AS1100

SURFACE FINISH

Natural

2/05/2016G.M.

A A4
SHEET 2 OF 2

DWG NO.

TITLE:
SCALE:   1:10

DRAWN

TOLERANCE: LINEAR:  +/- 0.2  ANGULAR:  +/- 0.25

REV:

97074-00-Hydraulic Self-Leveller Full Assm

PROJECT:

Qty: 1 SolidWorks

Hydraulic Self-Leveller

MATERIAL:61.38 Multiple parts Nut & Bolt AsmWEIGHT(kg)

97074-00


	Sheet1
	Drawing View1

	Sheet2
	Drawing View2
	Drawing View3
	Drawing View4
	Drawing View5


